
 

 

Algebra II   Worksheet   #1   Unit 5   Selected Solutions 
 

Express each of the following radicals in simplest form. 
 

√1211. = 11 since 112 = 121
       √4. = 3 -729 -9 since (-9)3 = -729

 
 
9. √125 = √25 = √ 5 5√ 5    = 2√ 8012. = 3 √103√ 83 √103

 
 

√16 = √ 2 4√ 2√ 3215. =    = -3√ -273 √ 33√16. = 3 -81 √ 33

 
 
 

Perform the indicated operations.  Express your answers in simplest form. 
 

√ 4821. = + √ 75

= √25 √ 3√16 √ 3 +

4√ 3 9√ 35√ 3+ = 

9√ 3

   

= √ 5√16 √ 5 –

√ 5√ 8022. =– √ 45

√ 9

= 4√ 5 1√ 53√ 5– = √ 5  
 
 

= √ 2√27 √ 2 +3 √ 83 33

3√ 2 5√ 22√ 2+ = 3 3 3

3√ 5425. = + √ 163 5√ 23

   5√ 3 3√ 32√ 3– = 3 3 3

3√ 33
√ 37526. =– √ 243 3

√ 3
3

√ 3√ 8
33

=–√ 1253

 
 
 
 
 


